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This questions paper contains 37 questions. All questions are compulsory.
This question paper comprises six sections — Sections A, B, C, D, E and F.
Section A — Questions no. 1 to 20 are MCQs of 1 mark each.

Section B - Questions no. 21 to 24 are very short answer type questions,
carrying 2 marks each. Answer to each question should not exceed 40 words.

Section C - Questions no. 25 to 29 are short answer type questions, carrying
3 marks each. Answer to each question should not exceed 60 words.

Section D — Questions no. 30 to 33 are long answer type questions, carrying
5 marks each. Answer to each question should not exceed 120 words.

Section E - Questions no. 34 to 36 are case-based questions with three
sub-questions and are of 4 marks each.

Section F — Question no. 37 is map-based, carrying 5 marks with two parts,
37(a) from History (2 marks) and 37(b) from Geography (3 marks).

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(Multiple Choice Questions) (20x1=20)

Which one of the following aspects was the base of the Bretton Woods
system ?

(a)  Military system
(b)  Cultural system
(c) Economic system

(d)  Historical system

Which one of the following books was printed first by Gutenberg ?
(a)  Chapbooks (b) Amar Jivan
(c) Bible (d) Almanac
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(b) & el Y — Tha HEA Icaeeh HiY hl Il 3

(c) aTuIfSh v — ngfyes e w1 1fes 7T § I9=T g @
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Who among the following led the peasant movement in Bardoli in 1928 ?
(a) Baba Ramchandra

(b)  Jawaharlal Nehru

(c) Subhash Chandra Bose

(d)  Vallabhbhai Patel

Which one of the following is not true about the female allegory of
France ?

(a)  She was named Marianne.

(b)  She took part in the French Revolution.

(c) She was a symbol of national unity.

(d) Her images were marked on coins and stamps.

Choose the correctly matched pair.

(a)  Primitive subsistence farming — practised on large patches of land
(b)  Intensive subsistence farming — single crop production farming
(c) Commercial farming — use of higher doses of modern inputs

(d)  Plantation farming — practised on small patches of land

When was the Wildlife Protection Act implemented ?

(a) 1972
(b) 1978
(c) 1980
(d) 1985

Mention the main reason for land degradation in states like Jharkhand,
Chhattisgarh and Odisha.

(a)  Over-grazing

(b)  Mining

(c) Over irrigation

(d)  Mineral processing

Which one of the following languages was declared as the official
language of Sri Lanka by an Act passed in 1956 ?

(a) Tamil (b) Sinhala
(¢)  Hindi (d) English
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Which one of the following options prove that India is a quasi-federal
state ?

I. More powers with Centre

II. Residuary subjects with Centre

III. Equal subjects with Centre and States
IV.  Currency and Railways with Centre
Options :

(a) I, III and IV

(b) I, IIandIV

(c) II, ITT and IV

(d I IIandIII

Which one of the following statements is not true ?

(a) The Constitution prohibits discrimination on the grounds of
religion.

(b)  The Constitution allows us to practice, profess and propagate any
religion or not to follow any.

(¢) The Constitution of India allows the state to intervene in the
matters of religion in order to ensure equality within religious
communities.

(d) As per the Constitution, religion can never be separated from
politics.

There are two statements marked as Assertion (A) and Reason (R). Read
both the statements and choose the correct option as your answer :

Assertion (A) : India has a multiparty system.

Reason (R): It is because of the social and geographical diversities in
India.

Options :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.
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Which one of the following is not true about a democratic government ?
(a)  Democratic government is a legitimate government.

(b)  Democratic government is a responsive government.

(c) Democratic government is the people’s own Government.

(d) It does not allow room to correct mistakes.

Read the given data in the table and find out the average monthly income
of Country A. Choose the correct option.

Monthly Income of Citizens of Two Countries (in Rupees)

I 11 111 v A\ Average
Income
Country A | 10500 9800 9500 10000 10500 ?
Country B 6000 6000 6000 6000 50000
Options :
(a) 9500 (b) 10000
(c) 10500 (d) 10060

What percentage of the population of Belgium lives in the Flemish

region ?
(a) 40% (b)  80%
(c) 59% d  70%

Select which among the following cannot be purchased through money.
Choose the correct option :

I. Full protection from infectious diseases
I1. A pollution-free atmosphere

III. High quality education

IV. A luxury home

Options :
(a) TandIII (b) IIl and IV
(¢) ITand IV (d) Iand II
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Study the data given below in the table and answer the question by

selecting the correct option.

Which is the most important sector that provides maximum jobs to the

people ?
Table — Workers in different sectors (in millions)
Sector Organized | Unorganized Total
Primary 1 231 232
Secondary 41 74 115
Tertiary 40 88 128
Total 82 393 475
(a)  Primary sector, especially organized sector

(b)
(c)
(d)

Secondary sector, especially organized sector

Tertiary sector, especially organized sector

Primary sector, especially unorganized sector

‘A’ is a worker in a garment export industry of Jaipur. He gets facilities

like health insurance, provident fund, medical leave, etc.

In which one of the following sectors is ‘A’ working ?

(a)
(b)
(c)
(d)

Primary sector

Non-Governmental sector

Organized sector

Unorganized sector

Which among the following organisations issues the currency notes in
India ?

(a)
(b)
(c)
(d)

The Central Government of India

The NITI Aayog

The Finance Ministry
The Reserve Bank of India

<at>
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19. R BgH 984 €I IgUSE FEH & S YRd H @ d9d hl qe ¥l

3ITICh 3 | I8 Al FAfaRea d @ form e <1 @ 2

(a) Hd
(b) @
(¢) e fsrem

d) G TS W
20. ‘G AR FEAR Wikl 5 Geeientor i Uishan i fHfaRad § & fha alieh
o Faiiees I fRam 7 2
(a) T o= doh W daret ol 9=
(b) AT % G T e YAl hl U5
(c) G < oIl e HarSl i TgH
(d) g % QR T deohlal a1 I U5

Qs @

(etfd rg-STdE u9d) (4x2=8)

21. 1991 HE H AT o AR IHRT TAR—A FT L T ? SATEAT HIT | 2
22, ‘WIEIRERdl s % foTe giferes 2 || =men fifvu | 2
23. (%) ‘S Hl Fud & S 9 KA R || 39 B HI gfee hifT | 2

rera
(@) NUTRAETT Sl & GETEHT BT 9T HiAT THI h A F=4 2 ? T
It | 2
24, TTHIOT &5k H 3Tk USHTR gWd i & is &l 39 gy | 2% 1=2
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19. Cargill Foods, a very large MNC, is the largest producer of edible oil in

India. Which one of these countries does it belong to ?
(a) India

(b)  France

(c) Great Britain

(d)  United States of America

20. In which one of the following ways has ‘information and communication

technology’ stimulated the ‘globalisation’ process the most ?
(a)  Access foods across countries

(b)  Access raw material across countries

(c) Access services across countries

(d)  Access information instantly across countries

SECTION B
(Very Short Answer Type Questions) (4x2=8)
21. Why did Europeans flee to America in the 19th century ? Explain. 2
22. ‘Communalism is harmful for the nation.” Explain. 2
23. (a) ‘Energy saved is energy produced.” Support the statement. 2

OR

(b) Why is there a pressing need to use non-conventional energy

resources ? Explain. 2

24, Suggest any two ways to create more employment in the rural sector. 2Xx1=2

32/5/1 13> P.T.O.
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Qus 1

(g3 w9 ) (5x3=15)
(%) IR AL W AUEAN 3N & fohedl o= gurai T
HIY | 3x1=3
HAAT
(@) WA & SN gRI Ul Ue o1 foiy fopm wepr fopam mam 2 i 3ereeon
Tfgd vrse ST | 3x1=3
TRd § UNTEd F1E o 9 H YTTATSAl o Hg ohl LI hifu | 3
HId H W Tl o A<eidd o Al T IS THIEI 1 UM hiTT | 3
“qRETAT crehad sl To Tewqul faivar g | 39 %A 6l gfee Hifvm | 3
TETEAT o Tl o MR W g & -8 8 2 ITH U IAh hl I
i | 3
Qus Y
(S 3w weA) (4x5=20)
(%) A oh ThIHLUT <hl TfshaT hi SRS HITT | 5
HAYAT
(@) W9 H T o =R &l 97 HH § B Hif—d 3 Thd TR Tgw@qul
qftreht fwTs ? Tose i | 5
(%) fafmior 3eem & wawa &t Tase KIS | 5
HAAAT

(@) S YGUU i HH H o foheal drd UM I AT HINWC | 5x1=5
(%) YNA ¥ TSHIfdH el b qHe Tohegl qia HICAT shl AT HiT | 5x1=5

HAAT
(@) TSHId® Tl o fohegl G TGE@ AT hl SRS HITIT | 5x1=5
(%) RO FFE TR FhNIcHS R TohRIcHs fHeht famar g ? 3grewn Afgd
s Y | 5
HAAT
(@) d9YH ROMYR RT g ? T§ TSI Dl bl d RO o+ d Uhd H T&
SO I g ? T HIfT | 1+4=5
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SECTION C

(Short Answer Type Questions) (6x3=15)
(a) Explain any three effects of Non-Co-operation Movement on the
Indian economy. 3x1=3
OR
(b) How was the Rowlatt Act opposed by the people of India ? Explain
with three examples. 3x1=3
Explain the importance of pipelines as a means of transportation in
India. 3
Describe the impact of flexibility in the labour laws on the workers in
India. 3
‘Transparency is the most important feature of a democracy.” Support the
statement. 3
Which are the two sectors based on the ownership of resources ? Explain
each of them. 3
SECTION D
(Long Answer Type Questions) (4x5=20)
(a)  Explain the process of unification of Italy. 5
OR
(b)  How did the French Revolution play an important role in creating
the idea of the ‘Nation’ in Europe ? Explain. 5
(a)  Explain the importance of manufacturing industries. 5
OR
(b)  Explain any five ways to reduce industrial pollution. 5x1=5

(a)

(b)
(a)

(b)

Explain any five challenges faced by political parties in India. 5x1=5
OR
Explain any five major functions of the political parties. 5x1=5

How does credit play a positive and a negative role ? Explain with

examples. 5
OR

What is a collateral ? Why is it a main reason to prevent the poor

getting a loan from banks ? Explain. 1+4=5

<15 > P.T.O.
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(hE-3TTeTi 99T) (3x4=12)

34, Teu U 3gTwr w1 v Fifvw a7 3Hes e few v gt o s foifaw

g9 H gc] ISl 0 1854 H o7t 3T T 9T o1 IHH 3Ic4Ted B4 o |
1862 de 98l UHI IR el s o @ off | 3AH 94,000 dehfer™dt 3R 2,150
H o | I THF T § ¢ el g ;| G801 i gget g2 WA 1855
H 3R gEll 7 W 91 1862 H =] g8 | 3T WRd H Ul el 1860 % g3k
H HEAR H Gl | 39 a0 W I FEHSETE i Tgall hagl U off =1 &
TE | 1874 T Hg™ H oft ygell Harg R A% et @ 8 |

(34.1) 9g! et e WRa § o Temiud <Al T8 2 1
(34.2) W el &1 TR SaiafeEl % A1 fRaT | é+é=1
(34.3) WRA % 9§ § IRl U HEHR % MG T Hg AMAh AW h

a1 i ford TohR 39T 1 i @ 2 T il | 2

35. feu U Igww w1 ved Fifvie 3 39k = few v yvai o s forfw

TEH ARA | Ichte Satd A % die-ane S 9uen gie Ht q S
g | A ol a9l ugld 3R e % O F 9N H g qW AT | SeH e
urfifefaeha aifedfaat 3T 39eh! S SATavTshaaR auield, iHsd, I8 I
R 91¢ T UG o 3k dlieh fawfad = fu 9 | 1zl o gddiw &= §
A 9 T e P (fvet feuter) SE arfeed, A A gRr o T
SRt Wal H =g o fou s § | ufverft wra, foaive Uomam & 1 &t
ST Ueh{d i o [0 ‘B 991 STdd UG <kl aiiehT 379 o7 |

(35.1) YA | UYH b U fohedl @ WA ST TUEY o ikl I Ioi@

aﬁliéq | 1
(35.2) TSTEA b AN IS T fopd ThTT ITINT Hid & 2 1
(35.3) TN TURYT o Tehral &l ATHI hl AT hifg | Ix1=2
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SECTION E
(Case-Based Questions) (3x4=12)

34. Read the given extract and answer the questions that follow :

The first cotton mill in Bombay came up in 1854 and it went into
production two years later. By 1862, four mills were at work with
94,000 spindles and 2,150 looms. Around the same time, jute mills came
up in Bengal, the first being set up in 1855 and another one seven years
later, in 1862. In north India, the Elgin Mill was started in Kanpur in the
1860s, and a year later the first cotton mill of Ahmedabad was set up. By

1874, the first spinning and weaving mill of Madras began production.

(34.1) When was the first cotton mill set up in India ? 1

(34.2) Name any two early industrialists of India. z +l =1

2 2
(34.3) How did many Indian entrepreneurs survive despite tight
economic controls imposed by the British Government ? Explain. 2

35. Read the given extract and answer the questions that follow :

In ancient India, along with the sophisticated hydraulic structures,
there existed an extraordinary tradition of water-harvesting system.
People had an in-depth knowledge of rainfall regimes and soil types and
developed wide ranging techniques to harvest groundwater, rainwater,
river water and flood water in keeping with the local ecological conditions
and their water needs. In hilly and mountainous regions, people built
diversion channels like the ‘kuls’ and ‘guls’ of Western Himalayas for
agriculture. Rooftop rainwater harvesting was very commonly practised

to store drinking water, particularly in Rajasthan.

(35.1) Mention any two methods of traditional water-harvesting used in

India. 1
(35.2) How do people of Rajasthan utilise rainwater ? 1
(35.3) Explain any two benefits of rainwater harvesting. 2x1=2

32/5/1 7> P.T.O.



36. feu U 3gTur o1 veq hifSw 3 3Hes 9 feu u gt & I fafEw

Sfes @ AT T Th BRI-AT 3 8, §T%hd § gIR AW U9 8 Hf 3 |
hl HHTE Wi, fietis, ST 3T dAFHHe ¥ ol 8 | $Eeh! AWl Uh
U T Mt s 2 I sfEmon H e A wlT el 1B AW S
FATS 1 AT A6 98d Sfed & | o hl ol AeME) H1 59 HEa e
FATHT ATk | &A1 8 3T &9 oicAdT & | A9 40 HIES AT aeli==m &5 § &d
2 M B9 did 8 | IY TH HIEE AN FUA Sied 8 | T SEed
80 FIEE! <N ha sieTd & 3R 20 BrEd) < g9 9Ty |

(36.1) Sfeoram I ST G=ET 1 Tee hifT | 1
(36.2) ST 3168 <Al sra hifvg | 1
(36.3) sifewem &l TR 7 U AT qaEn & frg TR g fohar 2 Tuse
T | 2
“us d
(ATt hI9Te ST W9 (2+3=5)

37. (%) WNA QU T TSI @I-AFRE (I8 23 W) H & ¥IH A 3R B
w9 ¥ eune U g | FeafaRgd S S ggEdr ¥ 3% UgEiET 31
3k Hgl ATH 39k FHIT W=t 78 t@reT w fafegu

(i) 9% TIH &l WS 4 THeh Hd el | 1
(i) % TIM T8 WRAE TS g 1 feayH Haesy, 1920 4 g7
o | 1

(@) WRa & g ToHifae W@aHts | F=fafaa @ @ 58 @7 &
ST Togl @ g iR 3 AW fafeu - 3x1=3

i &l -diy
(i) R — HIFA H GH
(iti)  Or — HiFeTeR Senfieh! ureh
(iv) eI — EHE aoH
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36. Read the given extract and answer the questions that follow :

Belgium is a small country in Europe, smaller in area than the state
of Haryana. It has borders with France, the Netherlands, Germany and
Luxembourg. It has a population of a little over one crore, about half the
population of Haryana. The ethnic composition of this small country is
very complex. Of the country’s total population, 59 per cent lives in the
Flemish region and speaks Dutch language. Another 40 per cent people
live in the Wallonia region and speak French. Remaining one per cent of
the Belgians speak German. In the capital city Brussels, 80 per cent of
the people speak French while 20 per cent are Dutch-speaking.

(36.1) Explain the ethnic composition of Belgium. 1
(36.2) Explain the term ‘ethnic’. 1
(36.3) How did the Belgian Government solve their ethnic problem ?
Explain. 2
SECTION F
(Map Skill Based Question) (2+3=5)

37. (a) Two places A and B have been marked on the given political
outline map of India (on page 23). Identify them with the help of
the following information and write their correct names on the

lines drawn near them :
1) The place where Gandhiji broke the salt law. 1

(i1)  The place where the session of the Indian National Congress
was held in September, 1920. 1
(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3Ix1=3
(1) Tehri — Dam
(ii) Bokaro — Coal mines
(iii)) Pune — Software Technology Park

(iv)  Tuticorin — Sea port
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HETICTRET 97 @acT GIRaTaa qherfarar & g 397 G&37 37 & € T

g1

feb=gT aiar ¥91 & IR G |

(37.1)
(37.2)

(37.3)
(37.4)
(37.5)
(37.6)

39 T w1 99 fIRaT ST s 5 79k Srd drel |
3 W & 9w fafge I8 IRdE T SUE e AYayE

faqrar, 1920 H g1 o |

39 TST 1 9 fafiau S8t ¢ad iy foog 2 |

39 TS 1 W faRau IS8T Sehrl shide <l @ 5 3 |

QU HFR il qTeh fohel T § fed g 2

A _\e

39 TS 1 W TARaw &l qeiehii

g go feud ® |

Sx1=5



Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 37. 5x1=5

Answer any five questions.
(37.1) Name the place where Gandhiji broke the salt law.

(37.2) Name the place where the Indian National Congress session was
held in September, 1920.

(37.3) Name the state where Tehri dam is located.
(37.4) Name the state where Bokaro coal mines are located.
(37.5) In which state is the Pune Software Technology Park located ?

(37.6) Name the state where Tuticorin sea port is located.
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